= A
N = 0] &F AF S & AN A
20208 = 20l A LBt H nEsA D
BN DEHH
HzM: H=ZnE 4K
S HERSIINEY % 24K A CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
nESA N 23,440,389 17,523,904 5,916,485
= 2,062,700
g 1,550,000
Jl 133,000
= 544 518
Al 19,150,171
znsE s8Xd 23,414,589 17,484,064 5,930,525
= 2,062,700
g 1,550,000
J| 133,000
& 544,518
Al 19,124,371
sznsoetxd & 2220 & 14,531,580 15,370,844 N 839,264
= 176,700
g 50,000
Dl 133,000
= 532,518
Al 13,639,362
Hsws Jletxd 646,912 370,919 275,993
201 et 9| 76,809 68,249 8,560
01 AFR 2t 2| bl 19,349 19,349 0
Ot 2Y| 11,709
ocollsunsE g4 3,709,000& 3,709
o ZHEAE AMAHAASA A FASE
¢ 100,000 124 & 1,200
o Al A AlZEE HIZ 400& x7,0000H 2,800
0SLdHE BEEZE HAANZE HZ
200,000 *200H 2~ 4,000
O2gs+¢ 3,640
0 DEANOISHIAZH MRS Haag
70,000 *7H *23] 980
o HATHEX S AMoAJF EHAMHE
70,000 *8H *23| 1,120
CDEAFIH HOAFRE 2P
70,000 *7H *13] 490
o HAURIARE BHLY
70,000 x5 *33] 1,050
[ DE=2=3] 4,000
olzEzNE gL2=x=&X 2,000,000 2,000
oAMNEEXY TMEI} oS 2,000,000& 2,000
02 3244l 57,460 48,900 8,560
OZ2Z222L A 2,000,000& 2,000
OANUHA S2E EFAYIOX MII23
2,400,000& 2,400
OAlE & HI KX Y| 53,060
o ALHHA S2& 83 3| 53,060,000 53,060




2N nEHAHY
HHM: =z NE S8X

S Hsnsligtsd & 28H N2 (=& J)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
202 Od4dl 7,103 5,670 1,433
01 = LHA YI 7,103 5,670 1,433
OlsnsE g2=a 7,103,000& 7,103
206 M= Hl 8,000 0 8,000
01 = tl 8,000 0 8,000
OAUHA S4B AIE2E Al2HE H&
8,000,000& 8,000
207 A RO H| 170,000 37,000 133,000
01 1R gyl 170,000 37,000 133,000
OANUHA E2E4 AXZA EF
50,000,000& 50,000
OAUB A 223 AH2Z AL EY 20,000,000& 20,000
OAMUHA SEH £ BEd 89
100,000, 000& 100,000
401 AIEBIZ 28I 385,000 260,000 125,000
01 A& HI 382,516 258,416 124,100
OAUHA S2&E &X1 220,000,000 *99.28% 218,416
OANUH A sZF(FXEAH) 2

50,000,000& 50,000

OSASTE B3 L HETY
100,000, 000! *99. 1% 99,100

OANUH A s Os9% &1
2

,500,000& *6H A& 15,000
03 Al 2 THHI 2,484 1,584 900
OAlUB A SZE(FXEXE) X
220,000,000& *0.72% 1,584
OH8ANs2d 8lis & dHEH
100,000, 000& *0.9% 900
2+=gH XN 7,164,611 7,048,611 116,000
307 21201 & 7,048,611 7,048,611 0
02 HAHFHYANGEEX 22,430 22,430 0
OAlU B A& LEDE S & =~2|Hl XI&
12,300,000& 12,300
OZNSEHARHDEZE Y dllg &
5,450,000& 5,450
OZHSEHAHDE EY A2F X2
4,680,000& 4,680
03 HAHNMEESHBIEX 26,181 26,181 0
OZHSEHAHDE 20ERA 29
18,981,000& 18,981
OB EHAHOE 29 7,200,000& 7,200
09 2+=HAHEEXS 7,000,000 7,000,000 0
O2=YAH(HA 32 8Al) RIHEXZ
7,000,000, 000& 7,000,000
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2N

X{ XH -
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S HERSIINEY % 24K A CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 Al HIZ 201 Y| 100,000 0 100,000
01 A& HI 99,100 0 99,100
OZEZ HA S22 ANEAE
100,000, 000& *99. 1% 99,100
03 AIE 2 THHI 900 0 900
OZEZ HA S22 AMEAE
100,000, 000& *0.9% 900
402 2I2H X201 M 16,000 0 16,000
01 2IZF 2 A B (KM ) 16,000 0 16,000
OAUBHA L8 DX X 16,000, 000& 16,000
WEAXNOSHASHRA 2L (BEX) 40,500 271,000 A 230,500
< 27,000
Al 13,500
307 glz2+ol & 40,500 271,000 A 230,500
< 27,000
Al 13,500
09 2+HAHEEXS 40,500 21,000 19,500
OsHEXNY S0sstd SStEA 29
40,500,000& 40,500
< 27,000
Al 13,500
AU A THE X2 (XA 1,124,906 988,504 136,402
307 glz2tol & 1,124,906 988,504 136,402
09 2HAHAEXS 1,124,906 988,504 136,402
OAUHA THEXIA 1,124,906, 000& 1,124,906
AUBHA HEXR(Bx) 617,450 617,082 368
< 308,725
Al 308,725
307 21201 A 617,450 617,082 368
< 308,725
Al 308,725
09 2+=HAHEBEXS 617,450 617,082 368
OAUHA THE XA 617,450,000 617,450
< 308,725
Al 308,725
AMUHA S22 FH 1,291,791 734,211 557,580
307 21201 A 1,291,791 734,211 557,580
09 2HAHAEXS 1,291,791 734,211 557,580
OANUHA SHALIH 2L
1,291,791,000& 1,291,791
ANUHHAEIHEAEH 1,952,602 1,988,839 N 36,237
307 21201 A 1,952,602 1,988,839 A 36,237




A REWEDY
M Hsns 4K
S HERSIINEY % 24K A CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
09 2HAHAEXS 1,952,602 1,988,839 A 36,237
OANUHA HALH 2AEH (M0 2H)
1,601,630, 000& 1,601,630
OANUHA HIed 2B (EFAUHA)
78,176,000 78,176
OANUHA S A8 (UMAUHA)
272,796,000 272,796
BAIZR XA (EX) 65,000 65,000 0
= 19,500
Al 45,500
301 LEd = 65,000 65,000 0
= 19,500
Al 45,500
1224 = 65,000 65,000 0
OYAl 22X 13,000, 000& *5CH 65,000
= 19,500
Al 45,500
S22 Y ZHAE SXI(AHA) 12,000 12,000 0
401 A& HIZ 201 Y] 12,000 12,000 0
01 A& HI 12,000 12,000 0
OHAS2E B ZHAIE FYl
12,000, 000& 12,000
ST Y ZYAE EX(EX) 26,700 26,700 0
< 8,010
Al 18,690
401 A& HIZ 201 I 26,700 26,700 0
< 8,010
Al 18,690
01 A& HI 26,700 26,700 0
OHASZE B2 AL &3
26,700,000 26,700
< 8,010
Al 18,690
BAGH 29 X3 (EX) 112,608 68,280 44,328
= 33,783
Al 78,825
307 glz2tol & 112,608 68,280 44,328
< 33,783
Al 78,825
09 2HAHAEXS 112,608 68,280 44,328
OEBANR2 IHE2T A AMY 88,320,000 88,320
< 26,496
Al 61,824
OEBAR= JIIESHZE NJAY  24,288,000& 24,288
< 7,287
Al 17,001




BN DEHH
HzM: H=ZnE 4K
S HERSIINEY % 24K A CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
EBEASESHE 22370 XA (MSAIY)(EX) 15,000 15,000 0
== 7,500
Al 7,500
401 AIEHIZL 201 Y| 15,000 15,000 0
o= 7,500
Al 7,500
01 Al&H| 15,000 15,000 0
QEtAE SOOI} A X 15,000,000 15,000
& 7,500
Al 7,500
22U A(HESEA) RNFAS(EX) 100,000 100,000 0
g 50,000
Al 50,000
307 giztol & 100,000 100,000 0
oy 50,000
Al 50,000
09 2LHHEXZ 100,000 100,000 0
OZTELA(B=BHA) XA
100,000,000 100,000
Fag 50,000
Al 50,000
oM X=X BHOIE ZHIAMY(EX) 80,000 250,000 A 170,000
& 35,000
Al 45,000
402 SI2FXHE0| M 80,000 0 80,000
& 35,000
Al 45,000
02 CIZEXIEAIS EX (0| XM THL) 80,000 0 80,000
ORFEZEHAHOE EUH ALY 80,000,000 80,000
o= 35,000
Al 45,000
ST A(HEZEHA) KA (KA 400,000 0 400,000
307 QI2t0| ™ 400,000 0 400,000
09 2LHHEXS 400,000 0 400,000
OZ2Z2E (HE2)EHA N AY 400,000,000 400,000
EYHWNESLY 29| N (EX) 332,500 0 332,500
Jl 133,000
Al 199,500
307 212t0| & 332,500 0 332,500
J| 133,000
Al 199,500
05 QIZ2tREF 2 332,500 0 332,500
OXQ SEHA 89 332,500,000& 332,500
J| 133,000
Al 199,500
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BN DEHH
HzM: H=ZnE 4K
SRl FIL BASY L DSAD0Y EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OUEXNH AMES XN (=FNSHMAHI WAH)
200,000, 000& *99. 28% 198,560
OEET 5030 S22 72 A
150,000,000 *99.28% 148,920
OEDIE AtHel B AFD/AE 2200 A
250,000, 000& *99. 28% 248,200
03 AlE 201 | 11,520 7,596 3,924
QOLEXUM ANES X (RN M)
300,000,000 *0.72% 2,160
OUENHA AMES EdX(sdssE ¥ = 53F
25 WAH) 300,000, 000& *0.72% 2,160
QOLEXUM AES EXN(EXNE SXNESX)
200,000,000 *0.72% 1,440
OUENE AMESWESSE SANE%)
200,000, 000& *0.72% 1,440
OUEXNH AMES EXN(=FNSHMAHI WAH)
200,000,000 *0.72% 1,440
OHEET 5030 S22 72 A
150,000,000 *0.72% 1,080
OBDIE AFtHCE B3I AFDRKAE 22 A
250,000, 000& *0.72% 1,800
405 XHAHF S HI 40,000 0 40,000
01 XA 2 FF S| 40,000 0 40,000
02F MISYFXE HTSUYANAY 2
40,000,000 40,000
2 FEINE =M 4,000 5,000 A 1,000
201 et 9| 4,000 5,000 A1,000
02 32%H| 4,000 5,000 A 1,000
OAEZ&H KXY 4,000
0 BEFXNE X2 4,000,000 4,000
CCTV | Al &2l 400,000 400,000 0
401 Al HI L £ 0HHI 400,000 400,000 0
01 Al& H| 397,120 397,120 0
Oz B DAY CCTV & X
400,000,000 x99 . 28% 397,120
03 Al 20| 2,880 2,880 0
Oz S8t DAY CCTV & X
400,000,000 %0.72% 2,880
NEHEH ;A AIES X & 22 36,050 32,550 3,500
101 Q121 | 4,000 2,000 2,000
04 JI2ZtHIZ22NEE S 4,000 2,000 2,000
OXNTEHEH WSOHMANES &1 & &2 o
29 100,000& x4 10 4,000
201 LBt | 6,550 5,050 1,500




2N
X ZH -
L= B
el

X ENEE & nsSAD0EY

SN EB S (3H) - NEAY - BES il 2
01 At 22l bl 6,550 5,050 1,500
OBt +=2H| 2,550
O NEBHEESH NEZUCAYE HEEE Y
2,550,000 2,550
[ DRINE=] 4,000
o NNBAFZH AHAQXZ Xt 3,000,000 3,000
o NEBLESZH nNSAIE2 &X 28X Xt
1,000, 000& 1,000
401 Al HI L £ 0HHI 25,500 25,500 0
01 A& HI 25,500 25,500 0
OXNEHASH nSotd peSE L nNsSAlA
Aax ¢ %71 22,000,000& 22,000
OXNEALAESH RECHHEXN®E &AX &H|
3,500,000 3,500
Helol Es32Y A 50,000 50,000 0
401 Al HI YL 2 0HHI 50,000 50,000 0
01 A& HI 49,460 49,460 0
O020 BEs349 o 50,000, 000& *98.92% 49,460
03 Al& 201 1] 540 540 0
OO0 B39 A 50,000,000& *1.08% 540
2AFIE ZH(EX) ,000,000 0 3,000,000
rag ,500,000
Al ,500,000
401 Al HI L 2 0HHI ,000,000 0 3,000,000
hag ,500,000
Al ,500,000
01 Al&H| 2,981,100 0 2,981,100
OHDIE 2 S8 &4
1,000,000, 000& *99.37% 993,700
= 500,000
Al 493,700
Osis SEFIE =4
1,000,000, 000& *99.37% 993,700
= 500,000
Al 493,700
0RES 84 ZYFXE T4
1,000,000, 000& *99.37% 993,700
= 500,000
Al 493,700
03 A& 2 0HHI 18,900 0 18,900
OHDIE 2 SgFUE &4
1,000,000, 000& *0.63% 6,300
OSHE ZAFIE =4
1,000,000, 000& *0.63% 6,300




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ORES 84 3EdFXF =4
1,000,000,000& *0.63% 6,300
EHEE OIS XA (EX) 40,000 35,000 5,000
< 12,000
Al 28,000
401 Al HI K 201 I 40,000 35,000 5,000
< 12,000
Al 28,000
01 A& HI 40,000 35,000 5,000
O2HEE OIE2ZI] &XI3A 40,000,000 40,000
< 12,000
Al 28,000
NsEUEMARASAME(BEX) 1,844,000 0 1,844,000
= 1,106,000
Al 738,000
401 Al HIZ 201 Y] 1,844,000 0 1,844,000
= 1,106,000
Al 738,000
01 A& HI 1,837,362 0 1,837,362
OXsSE(ITS) RNEMA AFAS
1,844,000,000& *99.64% 1,837,362
= 1,102,018
Al 735,344
03 A& S THHI 6,638 0 6,638
OXsSE(ITS) nEMA AFAS
1,844,000, 000& *0.35997% 6,638
= 3,982
Al 2,656
2SS AFAG(EX) 1,300,000 0 1,300,000
= 780,000
Al 520,000
401 Al HI L 2 THHI 1,300,000 0 1,300,000
= 780,000
Al 520,000
01 A& HI 1,295,320 0 1,295,320
O2SUS A=A 1,300,000, 000& *99.64% 1,295,320
= 777,192
Al 518,128
03 Al 2 0HHI 4,680 0 4,680
OZSUSAEAY 1,300,000,000& *0.36% 4,680
= 2,808
Al 1,872
xtetetel 88,147 73,678 14,469
HHESE 2el 88,147 73,678 14,469
201 ¢4l 68,368 68,368 0




A REWEDY
M Hsns 4K
el xel CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 27,628 27,628 0
OBt~ 23,128
o XNHESE FRFAH 4,128,000 4,128
o AAXSA WHE MK 2
100,000 10 A 1,000
0 REE MESIAM 2 15 2
60,0003 *50 A 3,000
o MEgUd otz =X +2
75,0003 208 A 1,500
o BAL AMEOIUE 2 88 F¢
75,0003 208 A 1,500
o MISXt SEHR(Y) 2 638 =2
200& =5,0000H 1,000
0o MSI LYASE MBA 9 75 7
100& =10, 0000H 1,000
o 8% #¢¥ 50,0002 20 A 1,000
o H&J|H H3S REXN FL
100& =10, 0000H 1,000
o OIEXNSAH HAI2S HSE XA
2,000,000& 2,000
o AasE==d XN 1,500,000 1,500
o JEHE XM =l 2,000,000& 2,000
o AAXA BHE MESFEE R
2,500,000& 2,500
O=&l 3,000
o XNHSE FRFA 2,000,000& 2,000
o SAE gRFa 1,000,000 1,000
[ DN = 1,500
o SHEXXZE AUX AX=
50,000& =303l 1,500
=323l 40,740 40,740 0
OZZ23LHA 33,740,000& 33,740
OA & ZEHl s Xl 7,000,000& 7,000
202 Oddl 4,779 5,310 A 531
1 2 Ab 4,779 5,310 A 531
OXNEESE g2F2 2,000,000& 2,000
SAE g2Fd 2,779,000 2,779
405 XtAHE SHI 15,000 0 15,000
01 THatH EZFH S 15,000 0 15,000
OXNSA HSE T4 DI 15,000, 000& 15,000
HH2HZH (S H ) 25,800 39,840 A 14,040
Jleddl(nss#d ) 25,800 39,840 A 14,040
Jl2Zdbl(nsdy ) 25,800 39,840 A 14,040




e

_|L

%0 —~
w0 =
IHo &0
w0

<

n0

Kio

Hl w

13,200

A 13,200

A 840

A 840

H3r
Wikd
RIS

34,800
34,800

5,040

5,040

Off &t 24

21,600
21,600
21,600

4,200
4,200
4,200

202 Oddl

01 =LHOI I

18 «128

2 x

100,000

KJ
KE
ok
oD

2128

350,000

=l
RO
0

50




